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INSTRUCTIONS TO CANDIDATES

The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Questign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 70 are printed both in English and in Official Language (Malayalam).
Doubts regarding the meaning and translation of Question Serial No. 1 to 70 will be settled
based on the Questions in English.

Twok blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1.

10.

The famous freedom fighter of Malabar, Mozhikunnath Brahmadattan Namboodiripad
was born in

A) Manijeri B) Cheruplassery

C) Kalpathy D) Payyannur

Which of the following woman from Kerala was not a member of Constituent Assembly
of India ?

A) Dakshayani Velayudan B) Ammu Swaminathan

C) Accama Cherian D) Anne Mascarene

Which of the following Viceroy is associated with llbert Bill Controversy ?
A) Lord Lytton B) Lord Minto C) Lord Rippon D) Lord Curzon

Which foreign power captured Cochin in 1663 ?
A) The Portuguese B) The French C) The British D) The Dutch

The Second American Continental Congress in 1775 was held at
A) New York B) Philadelphia
C) Washington D) San Francisco

Who wrote the book ‘The Spirit of Laws’ ?
A) Montesquieu B) Voltaire C) Rousseau D) Thomas Paine

Name the treaty through which Russia withdraw from First World War.
A) Treaty of St. Petersburg B) Treaty of Brest Litovsk
C) Treaty of Versailles D) Treaty of St. Germain

Who was the British Governor General of India during the Revolt of 1857 ?

A) Lord Canning B) Lord Dalhousie

C) Lord Elgin D) Lord Lytton

The Book Gandhiji wrote in 1909 was

A) My African Years B) My Experience with Truth
C) Satyagraha : A New Way of Life D) Hind Swaraj

The Kerala leader who met Gandhiji at Tirunelveliin 1921 as a part of his fight against
untouchability and caste system

A) Dr. T. M. Nair B) C. Sankaran Nair

C) T. K. Madhavan D) K. P. Raman Menon
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11. Match the following.

List -1 List -1l
a. Intertropical Convergence Zone |. Horse Latitude
b. Westerlies II. Polar Front
c. Subtropical High Ill. Found between 30° and 60° latitudes
d. Subpolar Low IV. Doldrum
A)a-IV,b-Il,c=Illl,d-1l B) a-IlllLb—-1IV,c—I,d-1l
C)a-IV,b-lll,c—I,d-1l D)ya-ILb-IV,c-1lll,d-1l
12. The road density in Kerala
A) 548 km/100 sq. km. B) 627 km/100 sqg. km.
C) 258 km/100 sq. km. D) 329 km/100 sq. km.

13. Which of the following statements are correct ?
a. Black colour is used for showing waterbodies of permanent nature in toposheet.
b. A map on 1 : 50000 scale is a standard topographical map used by defense

forces.
c. The land features are represented on toposheet with the help of symbols known

as conventional signs.
d. The scale of toposheet varies from 1 : 250000 to 1 : 25000.

A) Statement a and d are incorrect and b and ¢ are correct
B) Statement a is incorrect and b, ¢c and d are correct
C) Statementa, b and d are incorrect and c is correct

D) Statement d is correct and a, b, ¢ are incorrect

14. Examine the statements and choose the correct one.
a. The narrow zone of discontinuity based on change in mineral composition
between crust and mantle is known as Mohorovicic discontinuity.
b. The crust and upper mantle are together called Asthenosphere.
A) Statement a and b are correct B) Statement a is correct and b is wrong

C) Statement b is correct and a is wrong D) Statement a and b are incorrect

15. Select the correct answer using the code given below in the List.

List -1 List -1l
I. Mineral Heartland of India a. Mumbai
Il. Zirconium b. West Bengal
lll. Cottonpolis of India c. Chotanagpur Plateau
IV. Indian Iron and Steel Company d. Kerala Coast
A I-d, ll-b,lll—a,IV-c B) I-b,ll—a,lll-c,IV-d
C)l-all-d,lll-b,IV-c D) I-c,ll—d,lll-a,IV-b
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A) uqoaim a, d agyamilaul emaoem, b, ¢ agymial vdl@oem’

B) (umocum a emgoem, b, ¢, d agamilau vocleosny

C) uqgocum a, b, d agyomilal emgosm, ¢ vocl@osen

D) (qggoaim d ve@l@oem;, a, b, ¢ agymilal emgoem’

14, (IqROQIMB®D al@leuooula] ElWOR® GlO66MHTNSIEE Ib:.

a. all0oG®OS, @YOIOEMo ag)MIQI@lsilengs WomILHIes calsmeiloal MIROED @oS
MNOMM0HEW RS Qe EMEBIOMD 6051605 GO6ILINW HMIGaOENINMTlE; allealcmo
agyom allglenomy.

b. al13006®oS; m&glorl @aloemo ag)MICIO® Boyale] @EMYEMIadld ag)omy’
allglesnyomy.

A) a, b ag)oml e1moaimde:® vudloem’

B) qgoaim a vedloem, b emgosen

C) uqocum b vealeosm’a emgosm’

D) a, b gl (1aqyoaime:d@d emgosn’

15. a1gle-@fl@d 269 M@BBIQIBIHHIM BHOWIEHHWD HAIGWIUl] LuElIWIW HEMmDO

OIBMOISIEEIES
aigle — | aigle— Il

[. 600y IOS WOmMY aOYBWEYAI a. 0Yoeesnl

. mildeenoemiwo b. alv2lla 6niomnoRDd

1. snomyes ee-056mMEaIog My’ C. G2m230Mmowalyd aflogyal
V. eoomyid @oend @ gl emiml  d. e#08 @loo

A) I-d,Il=Db,lll-a,IV-c B) I-b,Il-a,lll-c, IV-d
C)l-all—dlll-b,IV-c D) I-c, l-d, lll-a,IV-Db



116/22 - M

16.

Which is/are true for Treasury Bills in India ?
I. Treasury Bills are issued by State Governments.
Il. Treasury Bills are less liquid compared to Call Loans.
[ll. Only Central Government can issue Treasury Bills.
IV. Treasury Bills are not eligible for inclusion in Statutory Liquidity Ratio by Banks.

A) Only I and IV B) Only Il and IlI
C) Only lll and IV D) Only Il, lll and IV

17. GDP at Factor Cost is equal to

18.

19.

20.

A) GNP at Market Price minus Net Indirect Tax minus Depreciation minus Net
Factor Income from Abroad

B) NNP at Market Price plus Depreciation minus Net Factor Income from Abroad
minus Net Indirect Tax

C) NDP at Factor Cost plus Net Factor Income from Abroad plus Depreciation plus
Net Indirect Tax

D) GNP at Factor Cost minus Net Factor Income from Abroad plus Depreciation
minus Net Indirect Tax

Which of the following statement is correct about the “Optimal Mix” of taxes ?
A) It maximizes the tax revenue for the Government.

B) It leaves the tax revenue unchanged.

C) It minimizes the excess burden due to taxation.

D) It leaves the economy neutral in its effect.

Of the following which is not true about the estimation of Personal Disposable Income ?
I. It includes retained profit and excludes transfer payments.
II. It includes transfer payments but excludes rent and interest.

lll. It includes personal tax but excludes transfer payments.

IV. It excludes personal taxes and includes transfer payments.

A) Only I and IV B) Only Il and IV

C) Only |, Il and Il D) Only IV

Of the following, which is/are not correct in respect of ‘Autonomous Liquidity (AL)’
related to ‘Liquidity Adjustment Facility (LAF)’ ?
I. It consists of liquidity flows that flows to commercial banks without monetary
policy actions.
II. It includes policy induced flows from the RBI to Scheduled Commercial Banks.
Ill. It consists of Central Bank Balance Sheet flows that arise from regular central
banking functions as currency authority.
IV. Itisthe sum of Central Bank Balance Sheet flows that arise out of money market

operations.
A) Only Il and IV B) Only Il and llI
C) Only I and Il D) Only I and IV
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21.

22.

23.

24.

25.

26.

27.

28.

Which of the following statement is/are correct about Emergency Powers of the

Union Government ?
I. Three different kinds of Emergency Powers are there in the Indian Constitution.
Il. A Proclamation of Emergency may be made by the President at any time he is
satisfied that the security of India or any part of India has been threatened by
war external aggression or armed rebellion.
A) Only | B) Only Il
C) Only land Il D) Both I and Il are wrong

Which Schedule of the Indian Constitution deals with the Division of Powers between

Union and the States ?
A) 2 B) 7" C) 12t D) 1

Which of the following statement is/are not correct about National Human Rights
Commission ?
I. The NHRC has been appointed by an Act of Parliament.
II. The Commission is responsible for spreading awareness amongst the masses.
lll. Chairperson of National Commission for Women is an ex-officio member of
NHRC.
IV. Members of NHRC are appointed by the President in consultation with Chief
Justice of Supreme Court of India.
A) Only | B) Only |, Il and IV

C) Only Iil D) Only IV

The word Secularism is incorporated in the Preamble through which Constitutional
Amendment ?

A) 42n B) 44t C) 46" D) 43¢

The term Socialism in the Indian Constitution indicates
I. Nationalisation of all means of production and the abolition of private property.
Il. Nationalisation of only major sectors of economy and make some sort of
restriction on the exercise of private property.

A) Only | B) Only Il

C) All of the above | and Il D) Both | and Il are wrong
Recruitment to All India Service is made by

A) UPSC B) State Public Service Commission
C) Joint Public Service Commission D) Staff Selection Commission

Who gives recognition to the political parties in India ?

A) Indian Parliament B) Supreme Court of India

C) Election Commission of India D) Central Government

A command issued by the Supreme Court or High Court when a public official refuses
to perform his duties is
A) Habeas Corpus  B) Mandamus C) Certiorari D) Quo Warranto



116/22 - M
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1. eaudle Aml®mo s:oilastd O.oi@deatstvemd a0y NHRC ag)s-60adleattyo @oowo @em.
V. eoomyad cugiadlo 8805 2llan’ e2ilavymo dyslosenallof @oeyalaiwosm’ NHRC
@0oMEIBEE MIQAlHIM@).
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C) Il mo@®o D) IV mo®o
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Qfl@lee i ?
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A) UPSC B) mvomnom alepfles cudaflamy’ ssonflancd
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A) eoomyd alodeionad B) snamywyes qvylafloessosmil
C) enamyd wlosemmsia | @oflanad D) &® (@3 qdesnod

28. 80} 6aldm) HEBPNMAM ®6OM 21IA@EIEB:D MAQadlendm allmvom@eniemIowd amyailo
BHISBIBWI HOAOEHHISBIEWI 1300 |SIANHOHIM HAOMDAW
A) caomlom eH0bq|m) B) aomwamy’
C) emdslewondl D) e®y0 aroomego
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29. Institution which is competent to enquire into corruption allegations against

Prime Minister, or a Minister in the Union Government or Member of Parliament ?
A) Lokayukta

B) High Court
C) Indian President D) Lokpal

30. Which Article of the Constitution of India deals with the procedure for the election of
Indian President ?

A) 352 B) 54 C) 325 D) 66
31. Name of a traditional Dance-Drama of Assam.
A) Kathak B) Sattriya C) Odissi D) Chhau

32. What is the motto of South Asian Games ?

A) Peace, Prosperity and Progress B) Achievement and Progress
C) Progress and Victory

D) Peace and Prosperity

33. Give the year in which M. T. Vasudevan Nair received Jnanapith Award.
A) 2019 B) 1984 C) 2007

34. What is the venue of Nehru Trophy Boat Race ?
A) Punnamada Lake B) Kumarakom
C) Vembanad Lake D) Pampa River

D) 1995

35. Who is known as Kerala Maupassant ?

A) O. Chandu Menon B) G. Sankara Kurup

C) M. T. Vasudevan Nair D) Thakazhi Sivasankara Pillai
36. Who is known as Kerala Vyasan ?

A) O. N. V. Kurup B) Ezhuthachan

C) Kunhikuttan Thampuran D) Ravi Varma

37. Which place is associated with Athachamayam ?

A) Thuravoor B) Thripunithura C) Thrikkakara D) Thrissur

38. From which place did Kuchipudi originate ?

A) Andhra Pradesh  B) Tamil Nadu C) Kerala

D) Odisha

39. Give the name of an International multi sports event conducted for athletes with
physical disabilities.

A) Summer Olympics B) SAF Games
C) Paralympic Games D) Winter Olympics
-10-
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MSa S| (B>DEMBHD ©)6)B>E00 30 6).21QYIMN®) ?

A) 352 B) 54 C) 325 D) 66
@OMVAIOL! B0} alOMUOIN® MY -MISHOBIOM Gald

A) &Loss B) mv@lw C) salqd D) amayy
BH:HAIGEMaY J1B HNWIMIB:BLIOS MYBOUIB:Y0 af)aDO6I ?

A) avmowomo, ;YR all@EOMN B) smgauie aljeeonaiwio

C) aneaon®lwlie allewalio D) avasdwomalye majaslwioe

ag)o. Sl. QAIOMVIEBAIM MOWAHE) 26mOMailo aljeaono eIElay Qlbato oR® ?

A) 2019 B) 1984 C) 2007 D) 1995
OMa00} B(Slall QUSRHEWIeS B! aR®I6M ?

A) a1ymas &0 @ B) &ym0s0

C) eaumimos &0 D) atomu mndl

BHOK MDA af)MOlWORISIME® EBO ?

A) 8. a10myeeMmOmd B) &. wom:0863030]

C) ag)o. sl. auomesIm® mowd D) @®¥l wlaiwsoqles
BHOK UMM ag)MIWOQISIAME® @DOIEM ?

A) &. ag)®. afl. &30 B) ag)viomglad

C) & 26mmlengm ®mmood D) oall cudom

QG® MUOLIMIEM @M 2|AWAIMOQS MITWeSIAlEe M@ ?
A) moad B) @yjiemlamio  C) @yeeosno D) @440

driaflalis] agalles mlmoem’ oeralajw ?
A) @REOWI (ICBUD B) ®al¥mos’ C) em080 D) salay

000AIElH HOAUBEIJMNIBE B0 BHMOIVEBRHHOR] MSEHINM B0 BOAHIOD (CYMRDS]
BIOBSMY QIO Bal® ?

A) saum@dendel aglmiey B) SAF eneiaiewd

C) aooelmlles omalmye-td D) wmwsoel sglmigy
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40. Who introduced Ottan Thullal ?

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

A) Ezhuthachan B) Kunjikuttan Thampuran

C) O. V. Vijayan D) Kunjan Nambiar

The technology used by e-book readers like Amazon kindle is

A) E-Book B) E-Board C) E-Ink D) E-Panel
is not a function of operating systems.

A) Memory management B) Processor management

C) Input-output management D) Resource allocation

device can join a LAN to a WAN.

A) Hub B) Bridge C) Router D) Gateway

A document containing links, in addition to normal text, to other documents is called a
A) Hypertext B) HTML

C) Home page D) None of these

The cyber crime where a hacker sends malicious links to users to gain access to
their computers and accounts is called

A) ldentity theft B) Ransomeware

C) Spoofing D) Phishing

The Indian Scientist who discovered the compound Mercurous Nitrite is
A) Meghnad Saha B) Prafulla Chandra Ray
C) Homi J. Bhaba D) Satyendra Nath Bose

is the marketing arm of ISRO which markets space products and services
of ISRO to domestic and international customers.

A) ISTRAC B) ANTRIX C) CENTRIX D) ISMARKET
Which among the following is not a renewable energy source ?

A) Hydro energy B) Geothermal energy

C) Natural gas energy D) Biomass energy

makes up the major share of greenhouse gas emissions.

A) Carbon dioxide B) Carbon monoxide

C) Nitrogen D) Nitrus oxide

Which among the following is not a major element of sustainable development ?
A) Climate change B) Economic growth

C) Social inclusion D) Environmental protection
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41,
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44.

45.
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50.
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B) ®iemwilenigd mmiyoomd
D) ®yemiad mmiyod

@BV BB G loeRIWIEE §0-61n1)H6) SlABMID HaIBROUIHELIIM MVOEE@IE: (3 yosN

A) n-eniyes B) en-eeniodaw’

C) e-enws D) en-atom@d

80qe0glovy IEREBRIOS (e IIBRCTHMAE.

A) enomdl moemeEend
C) enMalyg-895a13s moemMeiond

B) clatomuqyd moem=ondd
D) alleaiafladimo (Resource Allocation)

8al0em@ il WAN-ceise LAN-6m 6210660 @odsio.

A) aoeni B) enNawe C) oysd D) swngea
OWOMEM EISETY BYSOO® M BAIE: RODFIGRIN6IER Llles:yd-0d @SEEIw B0y

BB YODBIOM ag)am’ allglemy.

A) ©6a0q|besHEY B) HTML C) @a0%0 Galed D) snemomyog

B0} A0IHOD HAIBIHMIBOBIOS HMUIPSOIBHEIGRIHEJ0 BOHOVNSYHEICRIBHY0 (IBIWdMO

BMSIM @I HHHYBHODOW Lllg:3d:0D BOWBHHINM OAVENUD dr3Qd>I® 6 OTD ag)am’
allgleemy.
A) eagowadlgl emany B) oombavosaid

C) ayadlowy

D) adladflowy

OOBHHIOM OOMEB(SH ag)(M Mo@BMo &hensiallSlay enam M woo(REemM.

A) emepimold’ avoan
C) 6a000ll 622 eniosnl

B) (@lanyg) 213 0oy
D) vemymemold’ gsriomy’

ISRO wyes allatemm alleommosm; @@ ISRO @ies eniadlade00 o@bajmemglo
BIVAIMETBEL0 BBEYTNO, BOANACBUTIR HalBRIBMILHUWDHE Qllatemmo H.21QRAMN].

A) ISTRAC B) ANTRIX

C) CENTRIX D) ISMARKET

®06Pa]0WIMAIRIE alyNO3alEIUIIBHINIIAM HVBLR BMVOBVLOTH® ?

A) el 99020
C) (@@ Qo®mS> 90dWeR0

20RO JaO QU HBIAMEBTIOMD (IWOM Al

A) &006n16M HOAW BOBOHAVA’
C) eemsgm

B) edlewo moalt 99020
D) eniewomomy’ 9odmeo

@6,
B) ®0@6eniend 6m08emosee sy’
D) eemsm’ sosseemay

®069a]0@IMAI@ qydlo AllemmeEmlond IWIMmeISHo GRROETH® aR® ?

A) o010 QoMo
C) momgadls, oidee]syEm®
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51.

52.

53.

54.

55.

56.

57.

58.

59.

The remainder obtained when 1! + 2! + 3! + ... + 95! is divided by 15 is
A) 3 B) 14 C) 1 D) 0

2
Ravi studies for 55 hours daily. He devotes 2% hours of his time to Science and

Mathematics. How much time does he devote to other subjects ?

11 13 13
A) 2@ hours B) SE hours C) 3% hours D) ZE hours

Raju’s income is 20% less than that of Rahim. How much percentage is Rahim’s
income more than that of Raju’s income ?

A) 20 B) 25 C) 30 D) 35

If the compound interest on a certain sum at 4% for 2 years is ¥ 2,448, then the
simple interest on the same sum at the same rate for the same period is

A) X 2,500 B) ¥ 2,400 C) ¥ 2,436 D) ¥ 2,420
If Ezfzmzi, then the value of x + y + z is equal to

18 6 vy 30
A) 25 B) 37 C) 42 D) 40

In a flight of 600 km, an aircraft was slowed down due to bad weather. Its average
speed for the trip was reduced by 200 km/hr and the time of the flight increased by
30 minutes. The duration of the flight is

A) 1 hour B) 3 hours C) 2 hours D) 4 hours

The arithmetic mean of the weights of 14 students in a class is 42 kgs. If the weight
of the teacher is also included, the mean weight increases by 600 grams. Then the
weight of the teacher is

A) 64 kgs B) 54 kgs C) 62 kgs D) 51 kgs

The sum of all two-digit numbers which leave the remainder of 5 when they are
divided by 7 is equal to
A) 715 B) 702 C) 615 D) 602

If f is a function satisfying f(x + y) = f(x) f(y) for all X, y € N such that f(1) = 3 and
> f(x)=120, then the value of n is

A) 5 B) 6 C) 4 D) 8
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51. 11+21+ 3+ ... + 95! 6m 15 68:06M" OB B0IETUOWRD RIEIHEIOM UBlago ag)(@® ?
A) 3 B) 14 C) 1 D) O

52. oall dlaumalie 5 2 26mleed alClee M. GI(RABTIMIo MeNl®@EBIMo BOLEMEl @M 6P
3

MOET6MR ziman'loeoéé Mlesl @iy, 0g Allat@EB@REHIQ] @AM og)® MO®o
5
e21eIUSlenimy ?
A 2 peeoid  B) 322 memeogd C) 3 aamieesd D) 2 merlenyd
1= 06mlee) — 06mles), — 06mlos), = o6emlde),
15 s 15 s 15 s 15 s

53. 0adlaled aIoy@omeamee0td 20% @i0006m 0023316 QdymOMo. Oadlalend Aleimdmo
0023316} QAUMIRIMEODHHIWD ag)(@® LOMMOMO dBSIOERIOEN ?

A) 20 B) 25 C) 30 D) 35

54. 2 Adauemmes) 60 Mlualm @yewies 4% &ysialelue X 2,448 @oesmssld, @oe® soeiwaalen
@OC® MIOBSILIIER BOC® MIHWIOS AISIMAOW alellvo

A) 2,500 B) 32,400 C) ¥2,436 D) 2,420
55. 1’ _x_10_2z @M@ X + Y + Z 6 MLl jo ag)@@Oo6m ?
18 6 y 30

A) 25 B) 37 C) 42 D) 40

56. 600 ®lernalgd alosnymM@Imles mouto HORIAIMNEO® @SB Allmom@Blen caln®
#0610, WO(ORIBE BRI 1dwE! GAUWN® MeMlHeAIE 200 H:lerI0dlQd dyOWIBW o
e6gleo® mawo 30 almlg a1davlenyewio o2l allaom@vlen eacdealyo
@06M.

A) 1 oemleenyd B) 3 oemleeyd C) 2 oemleeyd D) 4 aemleenyd

57. ary gogileer 14 aflepdmde:aies coraslam nenl® toowndl 42 Kgs @em. @ow oale:6ed
@200UJ0 Sl HROQSIETIE KAl 8o 600 Io R AdELIee 0. @oEa 0w
@OW Y00 ld6)R @OMo.

A) 64 kgs B) 54 kgs C) 62 kgs D) 51 kgs

58. ag)gjo 0ens @OLHMVOE JEHBIOSWI0 BDED: MIHER 7 E1B06NE aOBIEHYBMUOWD BUdaHBeYM@
5 @6emesl@d a® o6y @IM ®ielmOIcleno ?
A) 715 B) 702 C) 615 D) 602

59. fagma f(x +y) = f(x) f(y) agigo X, y € N mgo (1) = 3, Z:=1f(x) =120 ogyomiesem
®J0s10a{SAOMIOM BOY AN0WAUMOIOEMBLIT N O Beljo

A) 5 B) 6 C) 4 D) 8
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60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

If 47 x(0.5)° % = (%} , then the value of x is

A) 1 B ! C ! D >
) ) 5 ) ) 7
The 20" term of the series2 x4 +4x6 +6x 8 + .... is
A) 1680 B) 1640 C) 1600 D) 1620
X -2y .
Let x®y= fory=0.1f4®5 =k ® 10, then the value of k is
A) 7 B) 8 C) 9 D) 6
If CENTURY is coded as AGLVSTW, then what is the code for SACHIN ?
A) QCAFKL B) UCEFGL C) QCAJGP D) UCAJGP
Find the odd among the following.

A) SORE B) SOTLU C) NORGAE D) MEJNIAS

Two cars start from the opposite places of a main road, 150 km apart. The first car
runs for 25 km and takes a right turn and then runs 15 km. It then turns left and then
runs for another 25 km and then takes the direction back to reach the main road.
In the meantime, due to a minor break down the other car has run only 35 km along
the main road. What would be the distance between two cars at this point ?
A) 85 km B) 75 km C) 80 km D) 65 km

If today is Saturday, what will be the day 350 days from now ?
A) Saturday B) Monday C) Friday D) Sunday

What will come in place of question mark (?) in the following series ?

35 210 1050 4200 ? 25200
A) 12340 B) 12600 C) 12200 D) 12580

A clock is set right at 5 a.m. The clock loses 16 minutes in 24 hours. What will be
the true time when the clock indicates 10 p.m. on 4" day ?
A) 12 p.m. B) 10 p.m. C) 9p.m. D) 11 p.m.

If the minute hand of a clock has moved 300°, then how many degrees has the hour
hand moved ?
A) 25° B) 150° C) 50° D) 300°

The difference of two numbers is 1365. On dividing the larger number by the smaller,
we get 6 as quotient and the 15 as remainder. What is the smaller number ?
A) 240 B) 270 C) 295 D) 360
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4% (0.5)° % = [%) @DEEMBIM@ X 6 Myeljo

A1 B 1 C ! D >

) ) 5 ) 3 ) 7
2X4+4%X6+6X8+..... aMM atomIoes 20-00 alBo @06N.

A) 1680 B) 1640 C) 1600 D) 1620
y¢0m“x®y=ﬂ @oem. 4 ® 5 = Kk ®10 eoeemessldd, K @ies melyo @06M.
A) 7 B) 8 C) 9 D) 6

CENTURY agma AGLVSTW agamosm’ g-o” e21@fldleeymemesla@, SACHIN e
BBHOW ag)TmO6M’ ?
A) QCAFKL B) UCEFGL C) QCAJGP D) UCAJGP

®269a|0WIMAUQI@ BRLIEOM OB 1.
A) SORE B) SOTLU C) NORGAE D) MEJNIAS

NS B0 B0y (IWOM GOOAWIOM ag)@d munelemsglad mlom’ 150 sleealgd @ode-eel
alan” @EElEHIMY. ERGIOED &0d 25 &lerodlghd 6osymMy, Qlelemmes aldlesm 15
#leelodlgd 80symy. alloils’enseamog @ldlenm aflemsio 25 wslerodlgd 0s3e-@o allorils’
3loo @10l (WM BOOUIORIBNYEB@ 0 6.21QIMMY. SH@IMISQI@ B0 62161 @E:000 myelo
06Q 00 (a1Wom soowleles 35 &lealodlgd mo(@o BIS]. 0D MAWEYT OENE B0 380D ®onil
R1I88 B100 af)@ORITIHe0 ?

A) 85 km B) 75 km C) 80 km D) 65 km

enOM KoMl OYa IoeeMEsl@d, enail 350 Elalavo w:¥lem ) Aoy Glalavo ag)mof@lenio ?
A) ool B) ®lesg0al C) engslwogal D) emoonogal
®06emgias euremialesal 821osya lam@dion (?) auoomm® ag)am alogo ?

35 210 1050 4200 ? 25200

A) 12340 B) 12600 C) 12200 D) 12580

oolloal 5 menles) B0y Gg;006 MDEld:@lofldlenim]. eoesln 24 memleaniclmaslcd 16
alrlg maga siamy. Moo Elalamo @l 10 a6l ag)m @006 qugallalloniemiodd
@LNOA®A VAo ag)MORA@leNo ?

A) 12 p.m. B) 10 p.m. C) 9p.m. D) 11 p.m.

80} G&oosNaM almlg qvgall 300°aellofiginenssssl@d, memleengd qvgall ag@ adlwsl alellojy ?
A) 25° B) 150° C) 50° D) 300°

6NE M6 JHB6S U Y 000 1365 @oem. el Mo6 IO 6.2101@ 6163:06NE a0@lHHIBMIOWR,
mames) 6 eLISH:00®Yo 15 Wlaymoo eIElHN 0. 21GI® Vo6 a@@®O6N ?
A) 240 B) 270 C) 295 D) 360
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71.

72.

73.

74.

75.

76.

77.

78.

Use the right gerund.

His early in the morning helped him score well.
A) torise B) rise
C) rising D) having risen

Select the phrase from the sentence that contains an infinitive.
She went to the store to get some bread.

A) to get B) no infinitive

C) some bread D) to the store

Choose the correct form of the auxiliary verb that agrees with the subject.
The information provided to you wrong.
A) were B) was C) are D) have been

Choose the right preposition.

| am good lawn tennis.
A) about B) in C) at D) of

Choose an option that expresses the sentence in transformed voice — Active/Passive.
He is writing the book.

A) The book has been written by him. B) The book is being written by him.
C) The book is written by him. D) The book was written by him.

Complete the sentence using the right phrasal verb.

The meeting has been put till tomorrow. (meaning : postpone)
A) out B) off C) up D) on

Replace the underlined text with correct idioms or phrases given in the options.

The Police Officer left no stone unturned in his search for the serial killer.
A) Behave smartly B) Conduct sincerely
C) Wasting no time D) Try every possible way

Choose the correct degree of comparison for the given sentence.

Delhi is bad than Mumbai in terms of pollution.

A) Delhi is worst than Mumbai in pollution.

B) Delhi is as bad as Mumbai in terms of pollution.

C) Delhi is more bad than Mumbai in terms of pollution.

D) Delhi is worse than Mumbai in terms of pollution.
-18-



79.

80.

81.

82.

83.

84.
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Choose the best one-word substitute for the underlined phrase in the sentence.
We have bought a new sewing machine that can easily be carried anywhere.
A) Cartable B) Portable

C) Potable D) Relatable

From the given options, choose the option that is the most opposite in the meaning
to the underlined word.

The world must realize the futility of wars.

A) Urgency B) Value

C) Usefulness D) Importance

From the given options, choose the option that is nearest in meaning to the
underlined word.

The woman’s husband tends to vituperate her when he drinks.

A) Appreciate B) Abuse

C) Appraise D) Encourage

Fill in the blanks with appropriate words given in the option so that the sentence

appears to be in the correct form of Tense.

The flight before we reach the airport.
A) Will have taken off B) Has taken off
C) Is taking off D) Was taking off

Which of the following is correctly spelt ?
A) Tresspass B) Trespass

C) Tresspas D) Trespas

Choose an appropriate Question Tag and fill in the blank.

He is never late for the classes, ?

A) isn’'t he B) does he

C) doesn’t he D) is he
-19-
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85. Choose the appropriate feminine form of Horse from the following options.
A) Colt B) Horsess
C) Mare D) She-horse

86. Fill in the blank with appropriate collective noun.

The farmer moved his of cows to higher ground to avoid the flood.
A) group B) batch
C) pack D) herd

87. Choose the most appropriate form of Indirect Speech for the following sentence.
He said, “Oh! It's a bad weather. | can’t drive.”
A) He exclaimed with sorrow that it was a bad weather and he can’t drive.
B) He exclaimed with sorrow that it was a bad weather and he was not to drive.
C) He exclaimed with sorrow that it was a bad weather and he couldn’t drive.

D) He exclaims with sorrow that it was a bad weather and he couldn’t drive.

88. Choose the most appropriate word to fill in the blank.

Those tablets are really my headache is much better now.
A) efficient B) effective
C) sensitive D) efficacious

89. Choose the correct meaning of the foreign words and phrases out of the four options.

Via media :

A) extreme course
B) right course

C) left course

D) middle course

90. Choose the appropriate option to fill in the blank.

Can you speak Spanish ?
A) a B) an
C) the D) no article
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91. ®062@EmMIClEOHIMI@ alyee: a0 INETIM HBIOMEMo BOLOBH® aR® ?
A) @aLYOAIBD B) mlemsdd C) @0mod D) woo(qle-cd

92. @ ag)oM alBo all@le.oeymid:.
A) ol + &R B) ald + &® C) olleom + @omd D) oflad + &t

93. muaildleo aufle:@leeM@Ootd agMdmao QIO alBo aR® ?
A) erdlemm B) @odenwm C) mowlewwd D) eooleu

94. AlIWOW alBo BEENBETYH:.
A) 2108000 B) cainzomomo C) euenz0m0mo D) euenzos-0m0

95. ®069EmMIElEeM@IM “alie@” ag)(m alcEmlon Allaldl®alBo &:6eNsEmYe:.
A) ol B) mery C) myera D) ae

96. ®o6vEDHMIElEenIM@IG (Ylelow alBOROED@® aR® ?
A) &l B) @aiouf C) ool D) el

97. gommo ag)(M alBEBIONM ol OWDLOEDE BH66NSEBIb:.
A) oo B) oo C) (®0vo D) 2100

98. cpIsHalBo BolBOBHPI®Ib:.

MOS0 (Ol (aIWIMMOEM. HLOHE] @OEMYGIORIL0 @OME| ag)MMIBRMOEN.

A) masdo 102 llds (aIWIMMIEMBLJO ? d:lOd:E] @EMYBAIOLI BOME) ag)MMISSEOEN).

B) mosdo 1ol (alwommo@@less @lnd:al @emiGalorljo @OME] ag)MISS®O6M.

C) mosso 102lld: (e IWOmMMOEIMOM BLOE:E] @o6MBaIORI}0 @OME] ag)MMISRMI6M.

D) mosdso Q102 llds (aI1WomMOem @OmEB06NME BLOE:E] @06MIGaIORI}0 @OME] ag)MISRMIEM.

99. mMSHROM (IWOMVDIER QY — BRQ|BODLI® 1.

A) mlagallno B) #adalilno
C) allalalno D) cyd®alno

100. (@1moQlo — (aIMNdMo ag)MIQIWIeS @odMON..
1) a0/l — wo® 2) BN — (aIBOWo
3) alloall — a¥yee 4) @YEoGo — all0a]oS’
A) 1, 2 nwdwosm’ B) 3, 4 vo@lwoem’
C) 1, 4 vo@lwoem’ D) 2, 3 wdwosm’
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